35 T £
< =3 g
NSLHIES s = 2|8
- | fisdE| NS 5 IS S < 2 2|8
S 2 SE33E|| T o g S = N s |y |= =
f 5 E = sSEe%38| EZ S| 8 (S8 = N 5§ [S | R
< &8 3§ % S 5233288 S =N S8 || = =S = |R_|E s
s - & =2 38 S|Ezxegf|| -~ Y o SE IRE| = S T zs8 < ||I§ |3
S s § 3 s SN =N — o 2 = S| £ ¢ = 2
5§ § 8¢ 3 3Ll T= g S = |3 fg/ 858
P33 ¢ is =25 & S SIHEEEE EHIERS:
5 & 8 2 s — e = oS El S8l =8| S .
= : 5 | ¢ |8 S olzlEyEsE | N
> S =
2 Bl sls sls 3 =
: = Sl EEEE LS
5|3 §|§ §|g §|¢
amopyalosd oimg Ziojsamu| alodjsemu) oMzoy “lumpoys o7UnIg :myunsks oMzoy .MN.. PW. s & = W ES Nw,
=)
S
)
R g
Y . . . L\ ¢ £~1én 00047 +
< S0P09+Z Wy M (£6/ Mq) DysHoxzshy n z &%g@/m&/ 143 sosze | BEB- i ~
£ \O
/ wus | a- [5Ns |3 $/'665+2
—\ 95728 | 770 | S\X |4 P65
/ sguze | a'o- | 75°565+2
A 61z | 210 . 11565+
\\ s |erize | 200 1065+
/ e | w00 | 3 07695+
h Ny
|\ sezs | w00- | = S 87'985+2
< \ ez | 600- §3 6/'595+7
S ; 97128 | 010- ¥ 80185+
| s | 0o- ST L5815+
S
/ \ 81725 | 0/0- 3 99%/6+2
/ / \ ps | 010- 965+
\ Sl — —
‘ — er
T_ . 128 %.Q B Q.E 7
_ ¥ 0 | 807 600- N bS U195+
3 q :
il - s | oo- | YT | 90°595+
, | 0z | 110- 1159647
wy
=[S ﬂ 00228 | 2)9- S 1r'655+2
S 9692 | 7)0- g £555+2
8 8|E 0 2 X
S SES |\ 96925 | £1°0- S £9'65+2
e £ =
S \ 6928 | 00~ | s £T 80°/55+C
w0 | ‘ [ 3 ‘
SN & / 8928 | 0/0- | 2 9)'6r5+2
S N n
- / 06928 | 200~ | T
Sle 3 06925 709~ -\ - .
sl [ £6'92¢ | £00- 85'syoHe
76°/§§+C
16928 | 100 W (9495542
3
)
t_
76°L§4+C
’
69'92¢ | 100 /57647
98'9z8 | 200 £9°025+¢
_ 99928 | 100 B 76Y15+2|r6 11547
| 8925 | 50% W (9651547
/ 8'25 | 900 20715+
8 _ 18'2¢ | 1200 76'45+C
RS 5 # 98925 | 800 04 0/5%2
Slig 98925 | 80 - 74’9054 S
N sg9z8 | 800 N 8)'905+2 S
= S ¢ ¢ ~ .
“ sg'9zs | 800 i s+ &
¥, i > ¢
- _ sg'9ze | 100 5% 9205+
== , 7825 | 10 N 05005+7 @
i « | P
_w; © 3 8C96p+7 ‘W M (p0g-9q $0) ouidoy) ' Z ajupMoZAZIYS / 78925 | 800 M & l_m_ /Hn 75961 +7
3 ‘ ] 4 : ;
S 9 | 600 |2l (s & 95967+
g = _ sg9ze | 600 | L\ (IS Wyl
A els _ £8'9c5 | 80% - 9yt
= Sl S sg'9zs | 900 9506742
= o3
x I \ 28'25 | 20 £5'987+7
N s ——— 28%5 | 90 15'98r+2
- ‘ ‘ ‘
S ‘ 18928 | 900 1978547
N 19928 | 500 o\ 9728+
IS 19'5 | 100 69087+
IS 08925 | #00- 2T
-5
= 6925 | $0°0- 9971p+2
O g
< s
~
RS N : : T ;
= — s 8198 | 710- 4 6519747
= ~ (N
S SIS
S NIEES
= RIS &
m sl8 S 1 I — 11925 | 6070~ II9rte
& —
995 | 10%- ] £9'96747
1928 | 60%- Lr7sp+7
- S/928 |010= = 0C0ti7
— S Vg | 18| | ldiied
71928 | 110- 3 P
1
S 87'95p+7 “wy M (11§-9q) fouzooq sbosp spazobyy , il & kiadid
/_ 025 | 2)%0- e 1855742
LS
| IS N
2 I 89525 | 110- 28 19574
~~ >
S ~ | 99928 | 1)0- 4§ 16zt
— e 79928 | 60°0- £ grLzr+l
SN 5 =2
N 2 0995 | 500- & 9)'szr+2
sls § ——
_ 95928 | 000 I
_ / 1598 | 500 7Irtl
| 9'9zs | 900 2801r+7
S
. or'szs | 20 $9'90r+2 S
S
_ N —l= : N
/ m g9z | 000 ||s 6720 +2 |67 20742
S ) —— -
\ A0 97'925 w0 || 9/'665+7
/ L] ac
N N \
o [ o |
S|P s S| s si9ze | 00 25
Slgs S|zs \ .
LIS o RS & brogerd
S8 3 SRS \\—— p
\W\—
\ AN 198547
\ 67°049+2
3 bl
3
/
\ 19%z8 | ¢)0- YAz
e | 900- 61'695+7
S
<
1}
\\ = a0‘eze 200~ WS VAT TA
— — a | 052 | jo'sze | 499- | {7 9687
w | w | < o~ =y
s 2 s URES
Slis BlEs S 9gyzs | 90%- S £/'5r84e
RIS e RISz = £
N SIS g8 3 ———————— =N =2
~ : ™ n .
S /_| S 128 | 100 DS 0198+
S E =
& SN
\ g S&
% = | . . S :
/ S 95z | 000 T 6295547
\ S s | 00 A SU50EH
\ IS 99z | 500 L6155+
[~
\
\ rzvzs | 60% 7570547
\ & S
=)
) i 5
3 200 ) 19g+7
| X2 028 | 400 o SChIE+
=)
_ S
=
=
ﬂ +
o~
_ 285 | 600- S 161674
N
ﬂ i
S S &
S8 o SIS o 3
) ) .
” S ] (_/I = ] "
sl = sla 3 =
= === H 19'7¢ 6070~ 0018747
1928 | 600- 18'6/7+7
ro'szs | s00- 1T+
o~
o - —
S ' ss'cze | 800- 096740
_ ic'sze | 010- 0816742
| 05’575 | 04%- 189742
6728 | 900~ 0619742
5 3
e Ebs
DlEQ S
SN NN
sE8 gE3 J 5578 | 010 00'520+2
[T
=
S
& ze'see | 94 07+
S
=
= |,
S grses | 60 | gfB 0012+7
S 3 gz =
— u g
N
s 3 &
g S O
= B £
= O S
< —
[ n
= j75ze | 910 = 29'961+2
()
Q
(=]
<
=
<
S
s ri'sze | 600 7598142
Q_
0i'szs | 200 1011147
S S
"= ) wn |
STy S
SlE S SlEs p0'sze | 100 769147
S = NS
SES SIS 20575 | 000 519447
7585 4+2
!
gezs | £00 "8 I 671t
6877 | 10°0- B A
Y
8708 1909 S 095 1+2
087 | 00- | S Tg%ti+e
|
-
y8'zzs | 700~ 067147
sg7zs | 209- e97i4e
RIS 287s | 100 A
MM s ]
sle 3 ———— 187z¢ | $0% 98741+
_ 182 " gze | 809 . L
I m 18728 | 900 sl o U0+
A yn | 9% a0 | S|l S oS
n 1 o = m;
N = 2875 | 00 = &= 8550/ +2 2
1S Um o~
= | N
~ =2
S | 97ze | 407 n S oo
£3
3 =
N se7ze | 000 ki 09%60+7
My
& 18725 | 000 16047
S
= g7z | 000 | & 90'980+Z
S 067z | 100 | 3 £r'980+2
S 2
w S 1
I8 6778 |00 = /18047
2 G678 50 12'080+7
T3
s 16728 | £00 96'9/042
-~ 3 66725 | 60% £6'7L0+
> O
= 5 = j'sze | 1 e
1 ~ N
Y 2N v
= SN A : ; :
o ERN \ so'sze | £10 67'190+7
= Qs
< s|iNn S
m =20 S [
kS [ 6028 | 600 | S| SL790+2 |5/ 790+
-— 1, f 4“, ﬂ. 1,
= wes | w0 | SIS §7'090+7
a o
1780+
p
2'ses | 10°- 71190+7
s/7p0H
. i
gr'sze | L2z |10 E I8'%660+2
N
n
se'cze | 200 16'150+7
‘ 15528 | 500 $)700+2
| 5528 | 500 96940+
\ 95528 90 15104
| S
<<
S
L)
| 3
o~
\ seczs | 700 75'700+7 @
| 7 TR | a0 07’666+
\ e S
=)
ﬁ s S
"G 00 || 18066+
\ « o
\ // L'z | L0%- 2'5L6+
\ ji'sze | 80°0- §0°G/6+)
< X S
Ry 2 | \ S
N §53 )
JE® ZES =
Sla S Sl 3 N\ ——M 68728 | 900- 91196+
\ — 8728 | 100- 20656+
pzes | 10'0- 17556+
2
<
1]
S
or7zs 00 16'176+)
£\ 5
0s7s | 100- | S\ 85756+
in\
gyzzs | 000 0/'66+)
0728 00 [ 8 (756
S 3
n M
S
S S
iy, 3§
Mig Mlig 08925 | 807 29516+
s SIS -
0/zs | 0 5806+ S
<
>
>S
x
/ seze | o1 90°/69+/
\
\ 2z | 01 66989+
\ & S
>
m ww S
NQ\ S - 10 8% 04
| | Y% T |9 o 5£ %579+
$)005 oup 2y
- | 9s'698+1 wx A gope jsndszig
C o - —
S / 960z | 94 92'998+1
S S _ 065 | 640 05198+
XN o XN ¢ _
S S
Slix SlEw |
e §as
___ |
/028 | 050 9978+
&
g
S
f 1, m _7_ €
R AARARE 0718+
5
n
A 9 17508+
5028 | 970 19°029+1
s
m N
508 | §70 07608+
S
=
>
o
x
< 9r0zs 720 @
S s|zlels|gls|g B
S S S 2 = S = 1
Bl | L | & | § g || 5
S| =« | & & & | 3| S
< = S @ -2 =
o3 < D ©O s
Sl & €852
Q< s =
2 = S
5 =
8
S
QS
<




